& Z-A 1)/ m oItk AABC €] §°]7F 30cm® & o, AA’BC 9]

Hol=?

A A I
B c "
@ 10cm? @ 15cm? @ 20cm?
@ 25cm? @ 30cm?

Azt ol W o] ZAo|gt oy FonZ
AABC = AA’BC
o2k AA’BC 9] Y olE 30cm? o],




th& 129 AABCOJA BP : PC = 3 : 4 A
o], AABC 2] Yol 7} 49em? ¥ W], AAPC
o] yo]=?

Q

@ 14cm? @ 21cm? ( ’28cm B P

@ 30cm? ® 42cm?

AABP @} AAPC Q] =o|=Ztom g

AAPC = 49(cm?) x i; = 28(cm?)




3. o2 Ido|4 oABCD += Attha]Eolth. AABC = 80cm? , ADOC =
30cm? ¥ ], AOBC 9] ¥lo]=?

A D
0)
B C
@® 20cm? @ 30cm? ® 40cm?
@) 50cm? ® 60cm?

AD//BC o]B=2
AABC = ADCB = 80cm?
- AOBC = ADCB - ADOC = 80 — 30 = 50(cm?)




th8 1382 AD //BC ¢l Afthg]&Zolth. AACD = 48cm?, AABO =
24cm? 4 ], AAOD 2] {ol=?

A D
9)
B C
@ 16 cm? @ 28cm? @ 20cm?
@ 22cm? ®)24 cm?

AD //BC ©]B& AABD = AACD ©]1, pAAOD & Z5o|B g
AABO = ADCO
whA AAOD = 48 — 24 = 24( cm?)




9 cm?

e

ul

U
)

229 o]

wte} A
32 = 9( cm?) o]}




o2 194 oBDEC 9] Hlo]+= 40cm? |11, AADE 2] Y o]= 16cm?
d off, ABEC 9] ¥o]=?

A B > C
D E
D)24cm? @ 26cm? @ 28cm?
@ 30cm? ® 32cm?

AADE = ABDE,
ABEC = O0BDEC - ABDE°| 22
ABEC = 40 — 16 = 24(cm?)




7. & ¥4 AB//DCol1, AABC = 16cm?, ADBE = 34cm? ¥
o], DABED 2] Wo|&?

A D
B C K
@ 30cm? @ 35cm? 3@ 40cm?
@ 45cm? ®)50cm?

AB//DCo]EB& AABC = AABD = 16(cm?)
-.0ABED = AABD + ADBE
=16 + 34 = 50(cm?)




8. th& 19T 2& AABCO|A AE: EC =3:4,BO:OE =3:2
oltt. AEOC 9] Ho|7F 8em? ¥ W, AABC 9] Hlo]=?

A
E
D
O
B C
® 20cm? @ 24cm? @ 28cm?
@ 32cm?2 ®)35cm?

AEOC ¢} ACOBOA wol= 2ol ¥ 2: 30|82

AEOC = ACBE x

2+3
. ACBE = 20(cm?)
AABE 2} ABCE A =ol& 21 B2 340|802

4 2
ACBE = AABC x 314 20(cm?)

. AABC = 35cm?




b2 23 22 HPArHEY ABCD oA BP : DP = 1 : 2 ©|t}.
OABCD = 24cm? 9 ©], AAPD 9] Yo]& 5tof2h

D

AABD = % = 12(cm?)

AABP , AAPD = 0|7} 2311, AABP : AAPD =1 : 2 o]t}
w2t AAPD = 8cm? ©]t}.




o2 1H 9 WPAIY ABCD oA A E+= ¥ ABO] T30l
DP: PE = 2: 10|t} HPAIRF 9] Ho]= 48cm? € i, ADPQ 9]

Hol=?

A D
P
E
Q
B C
D)4cm? @) gcm2 @ 5cm?
@ %ch ® 6cm?

ABDE = %AABD = % X %DABCD = 12(cm?)
ADBP : AEBP =2: 10|22

ADBP = gABDE = g x 12 = 8(cm?)

ABPQ : ADPQ =1:1

ADPQ = %ADBP = % x 8 = 4(cm?)




11. o2 293 2] AD//BC 2 Aftt2]E ABCD el AO: CO=1:3
°]il AAOB = 6ecm® & ), AOBC 9] Ho|& F-5Fof 2t

A

L
[

\VARR 4
X
i

18 cm?

AABO , AOBC + 0|7 21 ¥Hio] th2t},
AABO : AOBC =1:3 =6cm?: AOBC .. AOBC = 18cm?




12.

o3 293} Zol A zrg o] A WS 7+ I
Zt St o g st ALY S IS o,
OBHIC €] Yo]&?
p—S
8
O 324 @ 320 3)289 B2t >
\15/
@ 225 ® 240
F G

CB = 17 o]|B2 A}Z+E BHIC 9] Holi 17 x 17 = 289 o]t}.




13. & 194 AC//DE ©]1 AABC = 135cm? ©|t}. BC = 15¢m ,
CE = 9cm ¥ 1, AACD 9] HolE Falofat,

D

B L

=

~15¢cm- "C 9cm

[

>
> ®ehl 81cm?

AB =135%x2+15 = 18(cm)

AACD = AACE = % X 9 x 18 = 81(cm?)




14. o3 oA Althe]E ABCD %E//@ ,AO:CO=1:29°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?




[e))]

=12c¢cm, AC = 5cm &
15 Fted e,

15. & 1894 AB
o, gJKEC 9] Yo

™)

25 cm?

\VARR 4
0x
i

0JKEC = 0ACFG = 5 x 5 = 25( cm?)




16.

%3} Zol AzM7Hd ABC ©| AB

=<t D
Biog s].h 1—1/\]-71-03 ADEB & j_aﬂ% ,
AEBC 9] Yo]7} 72em? o|# AC o] do] &
L upoln] Patelet. (4, whel A1)
\z
B 5. C
>
> =g 5

AEBC = AEBA = 72 cm?
OADEB = 144cm?, AB = 12cm
AC = V132-122 =5 (cm)




17, o3 I A M2 BCO 570]1L AP :
PC = 3 : 29°|t}. AABC = 40cm® 2 o,
AAPM 9] Wol=?

@ 4cm? @ 8cm?

@ 16 cm? ® 20cm?

~&B

SABM7H AAMC €] o]} Hie] Zo)7}
o Yol 2t}

=

AAMC = 20cm? , AAMP = 20 x g = 12(cm?)




18. the T804 AABC 9] Yol 6ot} AD : DB = 4 : 1, BE :
EC =3:1¢ u, aADBE 9] Ho]& sfofet.

A

B

AABE 9} AAEC = =0)7F &l

AAEC=3:1

. AABE = AABC x 3 =60 x
3+1

AAED &} ADBE | A] f=0]7} &

ADBE =14:1

.. ADBE = AABE x 45 x
4+1




